Fo50[E] REHAV=TEFEHEARSES TEERETF
BF =7 (50~64m%)
JEHT | 4B E % OB | PEBA E % OB | PEea| A& G BRSA IS BE
1 A| /MR EEA Ny, 1,966 #T i M # 2,038 4,004 | ¥—LA
2 | B| ®EA FE i 1,912 it EiE ERERR 1,948 3,860 | ¥—L
3 | ¢c| I IEBH = bl 1,843 A& L SEa% | 1,815 3,658 | F—L
4 | D il &= & = 1,782 KE KT B E 1,711 3,493 | ¥—LA
5 E Hh ] FSBC 1,723 *AKk FB FSBC 1,756 3,479 | ¥—L
6 | F BH BXx Ik 1,736 =7 L s FANE | 1,676 3,412 PN
7 | G| BKEA FEiE Ny, 1,638 EE =FH o 1,765 3,403 | ¥—4
8 |H| AR =z m A 1,653 HE FK ERERE 1,602 3,255 PN
BF NP =F7 (65~745%)
IESE | 48 E % OB | BEEA E % OB | FEEa| & 3 BATZAE
1 Al AREH H EHER 1,615 A HE R & 1,991 3,606 | F—L
2 | B| <FKLHEA ® % 1,912 B H ] i 1,683 3,595 | F—L4
3 C B FE B 1,694 W B 2 M 1,832 3,526 | ¥—L
4 | D EBNIIBR— Polaris 1,665 RH %7 Polaris | 1,661 3,326 | ¥—LA
TF =7 (50~64)
I | %8 E % OB | TEeA E % OB | TEea| A& 3 BATIZAE
1 A| deln BAZE FHRRE | 1,948 | F/NERE | Fa0E | 1,798 3,746 | F—L
2 B BEH &F it W 1,815 BALSTF it W 1,891 3,706 | F¥—L
3 |¢C ;< ZF w5 1,716 XKff EBF BIEk 1,825 3,541 | ¥—LA
4 |D| &H #F FSBC 1,680 | FEGEREF | = % | 1.764 | 3,453 | F—L
TF NPT (65~745)
IEfL | 48 E % OB | PEeA E % OB | PEeA| A | A
1 | A s B &k | 1,931 | HRIREAF | ToawE | 1,964 | 3,895 | F—L
2 | B| BEAUVAH x % 1,713 X #F RED 1,733 3,446 | F—L

BF TREZ—X=7

1 hE =H w5 1,820
2 | kWi % A oF | 1,797
3| @I Bz tEE | 1,749
4| EE E w ol | 1,747
5| iEd thid ® % | 1,706
6 | #F IE | WEAF | 1,664
17| =8 %Ki EHRE | 1,627
BF TR4—XL=7

1 'R FF & 4t 1,954
2 | B #®f & OE 1,797
3| /Mt Fosk SR 1,756




